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2. VTU Formula Hand Book is permitt
3. M : Marks, L: Bloom’s level , C: %ﬂzrﬁe outcomes.

Moduile~ 1 L ¢ L | €
Q.1 ion With the help of neat block didgram. L1 | CO1
ng %g
L3 | CO1
L1 | CO2
Q.2 L1 | CO1
L1 | CO1
L3 | CO2
[N Module —2
Q.3 v | Obtain the be \Q?‘?of voltage, currént and power in a pure resistor L2 | CO2
‘AC. supply.@g%gw the voltage, current and power
waveforms Ty i
N 3

A current of average valye 8.019A is flowing in a circuit to which a L3 | CO2

voltage of peak value 14@@%\/ is applied. Determine:
i)  Impedance in polafiform.

ii) rms values of voltage and current.

ii) Power consumed by the circuit.

Assume volta ’Wgs current by 30°.
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Define following terms related to sinusoidal waveform of AC. g%rameter 6 |L1 | CO1
i) Instantaneous value ii) Amplitude iii) Fre iv) Time
period v) Form factor  vi) Peak factor.
OR w
Q4 Derive the equation of the power consumed series circuit. Also | 7 | L3 | CO2
draw the waveforms of voltage current and po
o 4
A circuit consist of a resistance of 20Q%=an inductance of 0.05H conn cted |7 | L3 | CO2
in series. A supply voltage of 230V, 50F applied across the circui af ind
the current, P.F. and power cons%d by the circuit. Draw the vector
diagram. (’% A&%@}
What are the advantages of 2 6 |L1|CO1
Q.S X 7 | L1|CO3
A 4 pole lap conngéted DC generator has 600 armature conductors and run | 7 | L3 | CO2
at 1200rpm. . generator has total ﬂux%O 24wb, calculate the emf
induced. F@;\uifg “speed at which it shoffig%be driven to produce the same
emf whemw We connected.
& &:%?‘
ve the torque equation of a ‘%otor. ’ 6 |L2 | CO2
Ny
& “OR Lo B *’i’ﬁ
Q.6 A 4 pole, 250V series giotor has wave co td armature with 'Wﬁ@ 7 | L3 | CO2
conductors. The flux per wzp*’%‘% is 22mwb, when otor is taking SOA%he
armature and series field “Coil resistances are, 0.3Q and 0.2Q respe ctlvely
Calculate the speed and torque of the moto or Htd also power developed in
watts. %&” . f%
With usual notatlons derive an em&gﬁg;a ion of D.C. genel;ator 7 | L2 | CO2
y N’
Explalmthe following charact e ies of a D.C. shun 6 |L2 | CO2
1) %orque vs armature t
11) “Speed vs armature Euitrent. . @
fa s dm
# ¥ Module 4.~
Q.7 Derive the emf ¢ 'fg%gen of a transformer and hence obtain the voltage and | 6 | L2 | CO2
current transfo ion ratios. ¢
Ay
With neat,, Iguxe explain the c%&mctmn of two types of rotor of a 3-¢ | 7 | L2 | CO1
inductiontmotor.
. @
A 125KVA transformﬁﬁ”‘%}sa primary voltage of 2000V at 60Hz with 182 | 7 | L3 | CO2

and 40 turns on primary.and secendary respectively. Calculate: 1) no load
secondary emf ii) %111 load primary and secondary currents ii1) Max
value of flux in tgg core.
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Q.8 Explain how a rotating magnetic flux is created in,th L2 | CO2
induction motor.
A 3-¢, 6 pole, 50Hz induction motor has a slip L3 | CO2
synchronous speed, rotor speed and the freque
load.
Explain the various losses in a transformes L1 | CO2
Q.9 Explain two way and three wa L1 | CO2
truth table.
Define “unit” used for cpns‘ iption of electrical energy and explain the two L1 | CO2
part tariff with its advarf%g and disadvantages. &x@%
What is earthing? plate earthing with neat f?gure. L2 | CO4
4 &
4 OR ™% '
Q.10 What is electrie Shock? Write a note on pregautions against electric shock. L2 | COS
_ the power rating of ‘ghoﬁsehold appliances including air L2 | CO5
s, PCs, laptops, printg
L2 | CO4




